JEJEHME HA 1 000,
10 000...




0115 250 — 6 250 =
015400 -3 002 =

]
]

11 890 — 3 590 =

10047 + 3 =

11098 982 + 8 =
12702+ 4 348 =




IlepeBeaure B METPHI:
483 kM. 45 M. =

IlepeBequre B KUJIOTPaMMBbI:
30 T. 2 KI. =

IlepeBenure B METPHI:
73 KM. 2M. =

IlepeBequre B KUJIOTPaMMBbI:
952 T. 28 K. =




ThICSUHYIO JIOII0 TpaMMa Ha3bIBAIOT
MUJLJIMTPAMMOM.
Munnurpamm 0003HA4YarOT TaK: M.

B ogaom rpamme 1 000 muummMrpamMmMos:
1r=1000 mr




15 000 kr =
28 000 r =
7 000 000 =
635 000 =
30 500 cMm =
2 000 000 MM =




